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Q31:
On pose : x =X et F=X =X
X1 =X,
X . (o — X1) X
2= Vo 1 H.- 42
Xy 0 1 0
On a donc, en posant : X = X] A= k B = |k I
2 I Pyt
X=AX+B

On peut donc appliquer la méthode d’Euler a cette équation, en posant h = At le pas :
Xpe1 =h. (A X, +B)+ X,
En Scilab
t=t+h
x=h*Xp(k)+X(k)
xp=-h*(Kr/M*X(k)+Mu*Xp(k)+Kr*L0)+Xp(k)
En Python
t=t+h
x=h*Xp(k)+X(k)
xp=-h*(Kr/M*X(k)+Mu*Xp(k)+Kr*L0)+Xp(k)

Q33:
En Scilab :
function [F_R]=Effort_ralentisseur(x, xp)
if x<X_R
F_R=0
else
F_R=k_R*(LO-x)-mu_R*xp
end
endfunction
En Python :
def Effort_ralentisseur(x, xp) ;
ifx<X_R:
F_R=0
Else:

F_R=k_R*(LO-x)-mu_R*xp
return F_R



